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Answer Question No.1 which is compulsory and any five from the rest.
The figures in the right hand margin indicate marks.

Answer the following questions : (2x10)
What is the difference between SRS document and design document?
What is the difference between process metrics and product metrics?
Write two advantages of using LOC.

Mention the formula to calculate Cyclomatic complexity of a program?
What is the difference between verification and validation?

What do you mean by legacy software product?

What is the need for regression testing?

What is the difference between SA/SD?

Difference between flow chart and structure chart.

Write down the difference between scrum and XP.

What is the difference between a sequence diagram and a collaboration (5)
diagram?
What do you understand by a metaphor in a user interface design? Is a (5)

metaphor based user interface design advantageous? Justify it.

Draw the architecture of a CASE environment and explain how the different (5)
tools are integrated?

Draw the schematic diagram to represent the Classical waterfall model in (5)
software development life cycle.

What do you mean by software reliability and explain the six metrics to measure (5)
software reliability ?

Draw the use case and data flow diagram for a Restaurant system. The (5)

activities of the Restaurant system are listed below.

Receive the customer food orders, Produce the customer ordered foods, Serve
the customer with their ordered foods, Collect payment from customer, Store
customer payment details.

Draw the schematic diagram to represent RAD model in software development (5)
life cycle.

What do you mean by software reliability and explain the six metrics to measure (5)
software reliability?



Q6 a) Distinguish between Extreme Programming and Scrum.

Q7

Q8

b)

What is cyclomatic complexity? How it is calculated using control flow graph?

For the following c program estimate the Halstead's length and volume
measures. Compare Halstead’s length and volume measures of size with the
LOC measure.

/* program to calculate GCD of two numbers */
int compute-ged (x,y)
Intx,y;
{
While (x!=y)
If(x>y) then x=x-y;
else y=y-x;
return x ;

}

Write short answer on any TWO :

Software reliability vs. Hardware reliability.

Object oriented design vs. function oriented design.
Integration testing vs. Regression testing.
Cohesion and coupling.
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